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Challenge 2

CORRECT ANSWER

Explanation: 

Modular design supports 
sustainability by allowing 
users to replace or upgrade 
specific components of a 
device instead of discarding 
the entire device, thereby 
reducing e-waste.

CORRECT ANSWER

Explanation: 

Biodegradable materials 
help mitigate environmental 
impact by naturally 
decomposing, reducing long-
term waste accumulation.

1.	 Which strategy is most effective for reducing the carbon 
footprint of electronic device packaging?
a.	 Use non-recyclable materials
b.	 Opt for smaller, recyclable packaging materials
c.	 Increase packaging weight for durability
d.	 Use bright colors to improve visual appeal

Incorrect answers
	– (a) Increases waste and sustainability challenges.
	– (c) Increases resource consumption and emissions during 
transport.

	– (d) Does not impact sustainability measures directly.

2.	 What is a key benefit of using biodegradable materials in 
electronics packaging?
a.	 Enhances device performance
b.	 Reduces environmental impact by breaking down naturally
c.	 Makes devices more durable
d.	 Lowers production costs significantly

Incorrect answers
	– (a) Does not affect device performance.
	– (c) Does not enhance device durability.
	– (d) Can be more costly than non-biodegradable alternatives.

3.	 How can modular design contribute to sustainable 
electronics?
a.	 Decreases device weight significantly
b.	 Allows easy replacement of components to extend  

device life
c.	 Increases production complexity without benefits
d.	 Reduces need for renewable resources

Incorrect answers
	– (a) Weight reduction is not a direct benefit of modular 
design.

	– (c) While increasing complexity, the benefits in sustainability 
and reduced waste are significant.

	– (d) Still requires renewable resources, albeit potentially less 
frequently.

CORRECT ANSWER

Explanation: 

Using smaller, recyclable 
materials minimizes waste 
generation and resource 
use, directly impacting the 
carbon footprint positively.
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CORRECT ANSWER

Explanation: 

Implementing renewable 
energy in production 
processes helps reduce 
greenhouse gas emissions, 
supporting more sustainable 
production practices.

CORRECT ANSWER

Explanation: 

Water conservation is crucial 
in reducing the strain on 
local water resources and 
protecting the surrounding 
ecosystems, which can be 
significantly affected by 
industrial water use.

CORRECT ANSWER

Explanation: 

Energy efficiency in 
manufacturing reduces the 
overall energy consumption 
and carbon emissions, 
contributing positively to 
environmental sustainability.

4.	 What effect does energy-efficient manufacturing 
have on the environment?
a.	 Increases carbon emissions
b.	 Reduces the overall energy use and environmental 

impact
c.	 Has no impact on production costs
d.	 Leads to faster production but more waste

Incorrect answers
	– (a) Energy efficiency aims to reduce, not increase, 
carbon emissions.

	– (c) Typically lowers production costs due to reduced 
energy expenditure.

	– (d) Does not necessarily lead to faster production and 
aims to reduce waste.

5.	 Why is water conservation important in electronics 
manufacturing?
a.	 Reduces production costs significantly
b.	 Minimizes strain on local water sources and 

ecosystems
c.	 Increases device longevity
d.	 Improves the aesthetic quality of devices

Incorrect answers
	– (a) While it can reduce costs, the primary benefit is 
environmental.

	– (c) Has no direct correlation with increasing device 
longevity.

	– (d) Does not affect the aesthetic aspects of devices.

6.	 How does the use of renewable energy in factories 
impact electronics production?
a.	 Reduces greenhouse gas emissions
b.	 Lowers product durability
c.	 Increases waste production
d.	 Decreases production speed

Incorrect answers
	– (b) Does not affect the durability of the products.
	– (c) Aims to reduce, not increase, waste production.
	– (d) Does not necessarily impact the speed of production.
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Challenge 2

CORRECT ANSWER

Explanation: 

 The use of sustainable 
materials decreases the 
environmental footprint of 
devices by reducing waste 
and pollution through more 
eco-friendly production 
practices.

CORRECT ANSWER

Explanation: 

Mining for components 
often leads to significant 
environmental degradation 
including habitat destruction 
and pollution, which are 
major ecological concerns.

CORRECT ANSWER

Explanation: 

Designing electronics with 
recyclability in mind reduces 
the volume of waste sent 
to landfills and supports 
the circular economy by 
facilitating material recovery.

7.	 What is the main environmental concern associated with 
mining for electronic components?
a.	 Improves device functionality
b.	 Causes habitat destruction and pollution
c.	 Reduces device cost
d.	 Makes recycling unnecessary

Incorrect answers
	– (a) Does not enhance device functionality.
	– (c) Often increases costs due to the environmental 
management needed.

	– (d) Increases, rather than decreases, the need for recycling 
due to waste.

8.	 Why is designing for recyclability important in electronics 
production?
a.	 Reduces the need for landfill space
b.	 Improves energy efficiency
c.	 Lowers device manufacturing costs
d.	 Speeds up production time

Incorrect answers
	– (b) Does not directly impact energy efficiency.
	– (c) May not necessarily lower costs; sometimes initial costs 
could be higher.

	– (d) Does not typically affect the speed of production 
processes.

9.	 How does using sustainable materials in devices affect 
the environment?
a.	 Decreases overall waste and pollution
b.	 Lowers device resale value
c.	 Increases production costs only
d.	 Makes devices less energy efficient

Incorrect answers
	– (b) Does not necessarily affect resale value, might enhance 
it due to consumer preference for sustainability.

	– (c) While potentially increasing costs, sustainable materials 
also offer long-term environmental and possibly financial 
savings.

	– (d) Sustainable materials do not impact the energy 
efficiency of the devices themselves.
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CORRECT ANSWER

Explanation: 

The absence of recycling 
initiatives in electronics 
manufacturing leads 
to increased waste and 
environmental pollution, 
which are detrimental to 
sustainability efforts.

CORRECT ANSWER

Explanation: 

Reducing energy 
consumption in 
manufacturing significantly 
lowers greenhouse 
gas emissions, directly 
contributing to sustainability 
goals.

CORRECT ANSWER

Explanation: 

Eco-labeling provides 
critical information that 
helps consumers identify 
and choose products that 
meet specific environmental 
standards, promoting more 
sustainable purchasing 
decisions.

10.	 What benefit does eco-labeling provide for consumers?
a.	 Ensures the lowest price of the product
b.	 Helps consumers identify environmentally friendly 

products
c.	 Guarantees the longest product life
d.	 Lowers manufacturing emissions

Incorrect answers
	– (a) Does not guarantee the lowest price; eco-friendly 
products can sometimes be more expensive.

	– (c) Does not guarantee product longevity.
	– (d) Labels reflect environmental impact but do not directly 
influence the emissions of manufacturing processes.

11.	 How does reducing energy consumption in device 
manufacturing impact sustainability?
a.	 Reduces greenhouse gas emissions
b.	 Makes devices cheaper to repair
c.	 Increases device lifespan
d.	 Has no significant effect

Incorrect answers
	– (b) Has no direct relation to the cost of repairs.
	– (c) Lifespan is influenced more by design and material use 
than by the energy used in manufacturing.

	– (d) Has a significant positive effect on environmental 
sustainability.

12.	 What is a drawback of not implementing recycling 
programs in electronics manufacturing?
a.	 Increases manufacturing speed
b.	 Leads to higher waste and pollution
c.	 Lowers initial production costs
d.	 Improves brand image

Incorrect answers
	– (a) Does not influence the speed of manufacturing.
	– (c) May reduce initial costs but increases long-term 
environmental and financial costs due to waste 
management.

	– (d) Typically damages brand image as consumers 
increasingly value sustainability.
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Challenge 2

CORRECT ANSWER

Explanation: 

EuroTech Industries is 
challenged by high levels 
of e-waste and excessive 
energy consumption, which 
are significant environmental 
concerns that affect the 
company’s sustainability 
profile.

CORRECT ANSWER

Explanation: 

Low-energy production 
methods significantly reduce 
energy consumption and 
associated costs, along with 
lowering carbon emissions, 
which are crucial for 
environmental sustainability.

CORRECT ANSWER

Explanation: 

Using recycled plastics in 
electronics manufacturing 
decreases the demand for 
new raw materials, thereby 
reducing the impact on 
natural resources and 
lowering the environmental 
footprint.

13.	 What is a positive effect of using recycled plastics in 
electronics?
a.	 Increases greenhouse gas emissions
b.	 Reduces raw material extraction
c.	 Reduces battery life
d.	 Makes devices more fragile

Incorrect answers
	– (a) Typically reduces emissions associated with new material 
processing.

	– (c) Does not affect the battery life.
	– (d) Does not necessarily impact device durability; recycled 
plastics can be equally robust.

14.	 Why is choosing low-energy production methods 
beneficial?
a.	 Speeds up production time only
b.	 Lowers energy costs and reduces carbon footprint
c.	 Decreases product quality
d.	 Increases environmental impact

Incorrect answers
	– (a) Does not necessarily speed up production.
	– (c) Does not decrease product quality; energy savings and 
quality maintenance can coexist.

	– (d) Decreases, not increases, the environmental impact by 
reducing energy use and emissions.

15.	 What is a primary environmental issue faced by EuroTech 
Industries in its current production practices?
a.	 Limited technological advancement in product features
b.	 High levels of electronic waste (e-waste) and energy 

consumption
c.	 Lack of modern manufacturing facilities
d.	 Low demand for advanced phone features

Incorrect answers
	– (a) Technological advancement affects competitiveness 
rather than environmental impact.

	– (c) The issue is not the age of facilities but their 
environmental impact.

	– (d) The problem is not with demand but with production 
practices.
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CORRECT ANSWER

Explanation: 

Adopting energy-efficient 
manufacturing processes 
helps lower operational 
costs and reduce the 
environmental impact, 
supporting EuroTech’s 
sustainability objectives.

CORRECT ANSWER

Explanation: 

EuroTech is experiencing 
economic pressures from 
rising material costs and 
intense market competition, 
which challenge the 
company’s profitability and 
operational efficiency.

CORRECT ANSWER

Explanation: 

Enhancing the recyclability 
and repairability of devices 
helps reduce e-waste, 
extending the usability of 
products and lessening the 
environmental impact.

16.	 How could EuroTech Industries reduce the environmental 
impact of its electronic waste?
a.	 Increase the number of advanced components in each device
b.	 Adopt more recyclable materials and focus on device 

repairability
c.	 Use larger lithium-ion batteries to extend device lifespan
d.	 Improve the screen resolution of devices

Incorrect answers
	– (a) More advanced components might increase waste due 
to complexity and rapid obsolescence.

	– (c) Larger batteries do not necessarily reduce overall waste 
unless coupled with other sustainable practices.

	– (d) Screen resolution improvements do not directly reduce 
environmental impact.

17.	 What business challenge is EuroTech Industries currently 
facing?
a.	 Lack of competition in the market
b.	 Rising costs of materials and high competition
c.	 Excessively low production costs
d.	 Limited demand for sustainable electronics

Incorrect answers
	– (a) The issue is not a lack of competition but its intensity.
	– (c) The challenge is not low costs but increasing expenses.
	– (d) There is a growing, not limited, demand for sustainable 
electronics reflecting consumer preferences.

18.	 Why might EuroTech Industries benefit from implementing 
energy-efficient practices in its manufacturing?
a.	 Reduces the quality of the electronic devices
b.	 Lowers operational costs and environmental impact
c.	 Extends the life of each phone component
d.	  Allows for faster assembly of devices

Incorrect answers
	– (a) Energy efficiency does not necessarily compromise 
device quality.

	– (c) Component longevity is influenced more by design and 
materials than by the energy efficiency of the manufacturing 
process.

	– (d) Energy efficiency focuses on reducing consumption and 
emissions, not necessarily speeding up assembly.
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Challenge 2

CORRECT ANSWER

Explanation: 

Using high-capacity lithium-
ion batteries enhances 
the energy efficiency and 
lifespan of devices, which 
contributes to sustainability 
by requiring less frequent 
charging and reducing 
the need for early device 
replacement.

CORRECT ANSWER

Explanation: 

Focusing on durability 
helps extend the lifespan of 
devices, reducing e-waste 
and supporting sustainability 
by lessening the frequency of 
device replacements.

19.	 What could be a reason for EuroTech Industries to focus 
on the durability of its devices?
a.	 Increased durability reduces e-waste and improves 

sustainability
b.	 Higher durability allows for easier component sourcing
c.	 Durability guarantees lower production costs
d.	  It shortens the device’s lifespan

Incorrect answers
	– (b) Durability does not directly facilitate component sourcing.
	– (c) While durability may help reduce long-term costs, it does 
not guarantee lower production expenses.

	– (d) Durability extends, rather than shortens, the lifespan of 
devices.

20.	Which of the following R-strategies is most effective in 
decreasing raw material demand?
a.	 They increase the device’s energy efficiency and lifespan
b.	 They make the device more difficult to recycle
c.	 They increase the device’s size and weight, making it harder 

to use
d.	 They limit the number of features that can be included

Incorrect answers
	– (b) While battery recycling can be complex, advancements 
in recycling technologies are addressing these challenges.

	– (c) Modern battery designs balance capacity with size and 
weight considerations to maintain usability.

	– (d) High-capacity batteries typically support more features 
by providing more power, not less.


